Name: Datum:

Bruche Kurzen 1 Blaukehlchen
1 ;gg _ ; gekiirzt mit 140
2. ggg = g gekdrzt mit 110
3. gzg = ; gekdrzt mit 270
4. (1388 = g gekdrzt mit 78
5. ;gg - ; gekiirzt mit 150
6. ggg = g gekdrzt mit 51
7. ggg = 3 gekdrzt mit 77
8. i?g = ; gekdrzt mit 52
9. 1?32 = g gekirzt mit 147
10. ggg - g gekirzt mit 252
11, ;gi _ g gekiirzt mit 68
10, 228 _ 4 gekiirzt mit 132

660
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Name:

10.

11.

12.

140

280

220

330

270

540

156

390

150

750

255

306

462

539

364

416

1029

1176

504

756

136

204

528

660

Briche Kirzen 1

kirzen mit 140

kirzen mit 110

kirzen mit 270

kUrzen mit 78

kirzen mit 150

kirzen mit 51

kUrzen mit 77

kUrzen mit 52

kirzen mit 147

kirzen mit 252

kUrzen mit 68

kirzen mit 132

Datum:

Blawkehlchen
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